Please answer the following questions in 50-70 words. 

1.The MTP Act was the first attempt to legislate Abortion in India. True or False?

False, because the IPC 1862 criminalized abortion. IPC considered life as sacred hence the legal provisions were designed to save a foetus irrespective of the consent of the pregnant person. 

2.On what basis did the IPC of 1862 criminalise abortion?
IPC criminalized abortion on the basis of consideration of life as sacred. 

3.Who was liable to be punished for abortions under the IPC of 1862?   
Any form of induced miscarriage, unless done to save the pregnant person’s life was considered a serious offence and was punishable.

4.What were the implications of the IPC 1862 on the rights of pregnant persons?
The implications of the IPC 1862 were such that the rights of pregnant persons were not taken into consideration. 

5.What was the motivation behind creating a more liberal abortion law in India? 
The way IPC 1862 dealt with abortion in a severe manner motivated to create a more liberal abortion law in India.

6.What were some of the concerns expressed by members of parliament when the MTP Act was first introduced in 1971?
The committee recommended legalising abortion to protect the health of women and lives on ‘compassionate and medical grounds’. 

7.Discuss the implications of the MTP Act on the rights of pregnant persons.
Following are the implications of the MTP Act on the rights of pregnant persons:
1) The abortion can be carried out up to weeks of pregnancy
2) If the pregnancy was a result of a rape, incest, sex crime or mentally disabled persons, then abortion can be done 
3) If the pregnant person was a minor 

8.What was the rationale behind amending the MTP Act in 2002?
The Act in its original version created a lot of red tape when it came to private institutions acquiring approval for abortion facilities. The amendment decentralised the process through which private abortion facilities received approval.

9.Mention some of the gaps in the MTP Act.
1) Originally, the Act allowed abortion as a recourse only for ‘married women and their husbands’ in the event of contraception failure. The amendment changed it to include ‘woman and her partner’.
2) The MTP Act lays emphasis on the provider and not on the rights of the pregnant persons.

10.How can the MTP Act be improved? 
1) The MTP Act was introduced as an exception to the IPC which criminalised any induced miscarriages and anyone providing this service.  The Act intended to provide protection to the medical service providers and not to protect the rights of the pregnant person.  As a result, it doesn't take into account the autonomy of the pregnant person. Their right to choose is hence undermined.
The current framework on abortion is also reflective of society’s heteronormative and patriarchal conception of family planning as a means of population control rather than respecting the pregnant person’s right to choose.
Another gap is when it comes to medical abortion. The pills can be prescribed only by a gynaecologist and are supposed to be available only through registered medical facilities. Seems like a harmless provision, but it has huge ramifications. Pregnant persons in rural areas might find it difficult to access gynaecologists and facilities.
It does not take into account the trauma of sexual violence experienced by the survivor.
While the amendment has changed the requirement from pregnant woman’s husband to partner, the person is still required to provide details and explain the relations when seeking abortions. This is exclusionary as it excludes single women, vulnerable groups which include sex workers, trans people, inter sex people and gender-diverse individuals who might want to seek abortions.


